
18
4

pa
ge

C
IV
L
41
35

Sh
ea
r

di
st
an
ce

M
u

V
u

φV
c

V
u
--
φV

c
V
u
--
φV

c

x
(6
4-
-3
x)
x-
-1
50

--6
x+
64

(*
*)

(*
)

(f
t)

(k
--f
t)

(k
ip
s)

(k
ip
s)

(i
n)

(k
ip
s)

(i
n)

V ud M
u
 ≤

1
s
=

15
8.
4

V
u
−
φ
V
c

s
=

15
8.
4

V
u
−
φ
V
c

φ
V
c
=
φ
 1.9

f′
c


+
25
00
Ã
w
V
ud M
u
 b w

d
=

0.
75
×
(1
.9

50
00


+
25
00
×
0.
01
70
5
×
V
ud M
u
)×

11
×
16
≤

3.
5φ

f′
c


b w
d
E
q.

11
−

5

0
--1
50

64
0.
50
0

20
.5
3

35
.4
7

4.
47

37
.3
3

4.
24

1
--8
9

58
0.
83
9

22
.4
5

33
.5
5

4.
72

37
.3
3

4.
24

d=
16
”
=1
.3
3’

--7
0

56
1.
06
7

23
.3
6

32
.6
4

4.
85

37
.3
3

4.
24

2
--3
4

52
2.
03
9

23
.3
6

28
.6
4

5.
53

33
.3
3

4.
75

3
15

46
4.
08
9

23
.3
6

22
.6
4

7.
00

27
.3
3

5.
80

4
58

40
0.
92
0

22
.9
1

17
.0
9

9.
27

21
.3
3

7.
43

5
95

34
0.
47
7

20
.4
2

13
.5
8

11
.6
6

15
.3
3

10
.3
3

6
12
6

28
0.
29
6

19
.4
0

8.
60

18
.4
2

9.
33

16
.9
7

7
15
1

22
0.
19
4

18
.8
3

3.
17

49
.9
2

3.
33

47
.5
3

8
17
0

16
0.
12
5

18
.4
4

--

9
18
3

10
0.
07
3

18
.1
4

--
--

--
--

(*
)

≤
0.
75
×
3.
5
50
00


×
11
×
16

(*
*)

A
cc
or
di
ng

to
Se
ct
.1
1.
1.
3.
1
of
A
C
I

V
u(
x
<

d)
=

V
u(
x
=

d)
→

V
u(
x
<

d
=

16
in
ch
es
)
=

V
u(
x
=

16
in
ch
es

or
x
=

16
∕1
2
ft
)
=
−
6
×
(1
6 12
)+

64
=

56
ki
ps

5656

1.
0

1.
0

1.
0

E
q
11
--5

E
q
11
--3

17
.7
34
+
5.
62
7
V
ud M
u
≤

32
.6
7

φ
A
vf
yd
=

0.
75
×

0.
22
×

60
×

16
=

15
8.
4

Ã
w
=

A
s

b w
d
=

3
16
×

11
=

0.
01
70
5


